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Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
) 6 2 4 3 47
1 1 + 43 :
3.
4,
4 847 5 11 6 11 >
+ 149 + 4 + 9 5
7.
8.
N 4 8 16 9 19 .
+1 + 1 +13
il 10.
11.
12.
100 39 11) 50 129) 62 13,
+11 +47 +18
14,
15.
13) 7 14 5 15 667
+6 +1 +240
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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Zusatz (vertikal)

Name:

L dsungsschltissel

L 6se jede Aufgabe. Antworten
_ 7
) 6 2 4 3 47 '
+1 +1 -43 S
7 5 90
3. 90
4 996
4 847 5 11 6 11 > 15
+ 149 + 4 + 9 6 20
996 15 20
7. S
8. 17
4 8 16 9 19 9 32
i + 1 +13 50
5 17 32 1o
11, 97
12, 80
100 39 11) 50 129) 62 13, 13
+11 +47 +18
50 97 80 14. 6
15, 907
13) 7 14 5 15 667
+6 1 240
13 6 907
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Mathe ] www.CommonCoreSheets.de 3 11-15]27]20f13| 7| O
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Zusatz (vertikal) Name:
L 6se jede Aufgabe. Antworten
50 80 7 97
5 32 20 5 1
17 90 15 996
2.
D 6 2 4 3 47 3
+1 +1 + 43
- - 4.
5.
6.
7.
4) 847 5) 11 6) 11
+ 149 + 4 + 9 8
9.
10.
11.
N4 8) 16 9) 19 12
+1 + 1 +13
10) 39 11) 50 12) 62
+11 +47 +18
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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